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Fiber 469, dchi2frac= 1.0



2 0 2

2

0

2

data

0.51.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

0.51.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.4 0.20.0 0.2 0.4
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Fiber 2619, dchi2frac= 1.0
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Fiber 1016, dchi2frac= 1.0
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2 0 2

2

0

2

data

2.02.53.03.54.04.5

2 0 2

2

0

2

model

2.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.40.20.00.20.4

Fiber 1010, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1 2 3 4 5 6 7 8 9

2 0 2

2

0

2

residuals

6 5 4 3 2 1 0

Fiber 877, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.60.50.40.30.20.10.00.1

Fiber 2419, dchi2frac= 1.0
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